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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 T fashedl # O Tefetre Qee/37&RT/HETT Y YT

Star : Telescope :: Ship : ?
Options:

1) Periscope

gfteRit

2) Microscope

EAet

3) Deck

EE

4) Gyroscope

( STRRIEHIT )
Correct Answer: Periscope

gReelt
Candidate Answer: Periscope

gRexif

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 T fashodl & O TefetreT Qse/37&RT/HEdT Y YAT|

QSUW : TVXZ :: ACEG :?

Options:

1) KMNP

2) EGMN

3) DFHJ

4) FHIL
Correct Answer: DFHJ
Candidate Answer: DFH]

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 I fashedt | Geferd Alsc/37eR/HEdT Y IiT|

12:54::15:7?

Options:

1) 56

2) 64

3) 67

4) 69
Correct Answer: 69
Candidate Answer: 69

Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives

8w 1T faehedt & & faver ereey 31eTy/aGar |
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Options:
1) Wolf
afzar

2) Cat
foreelr

3) Dog
Shcdl

k)

4) Fox
el

Correct Answer: Cat
e

Candidate Answer: Wolf
afsar

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives

few o faemedt & @ fawer ey 3rery/dean gow g

Options:
1) BF

2) IR
3) MQ

4) AE
Correct Answer: LR
Candidate Answer: LR

Question 6.

For the following questions
Find the odd word/letters/number pair from the given alternatives

8T 1T faehodl & & fawe eree) 37R/HEar 378 |

Options:
1) 36-72

2) 17-34
3) 28-49

4) 24-48
Correct Answer: 28-49
Candidate Answer: 28-49

Question 7.Arrange the following words as per ordering the dictionary:
el ersel @1 eeearer # T 717 e & 3ger fo|

1) ASSIGN

2) ASSOCIATE
3) ASSIST

4) ASSISTANT
5) ASSIGNMENT

Options:

1)1,53,4,2
2)1,3,5,4,2
3)1,3,524

4)15.24,3
Correct Answer: 1,5,3,4,2
Candidate Answer: 1,5,3,4,2
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Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:
T8 I 31Tk A & Uk e ofcd &1 U 910 faenedt H & a8 eI fashed Y S 37egsha il QU |

FED , IHG, LKJ, ONM, ?
Options:

1) MKJ

2) VUT

3) CBA

4) RQP
Correct Answer: RQP
Candidate Answer: RQP

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:
oA I 31Tt F O U oo &1 v 1w faewedlt F & @ weY fashed g S 31egshe 1 qu A

3,4,7,?,18,29,47
Options:

1)8

2)9

3)11

4) 12
Correct Answer: 11
Candidate Answer: 11

Question 10.Pointing the lady in the photograph, Seema said, "Her son's father is the son-in-law of my mother". How is Seema related to the lady?

Y # T T T I SAURT F T WA F e, 6% O & e A A 3 g §1" T T 3H By Aol S § Graew qrd ?
Options:

1) Sister

ErRo

2) Mother

#t

3) Cousin

TR TR R A gt

4) Aunt

ardr

Correct Answer: Sister
Erol

Candidate Answer: Sister
Ero)

Question 11.P, Q, R, S & T are sitting in a straight line facing North. P sits next to S but not to T. Q is sitting next to R who sits on the entrance left corner. Who sits to
the left of S if T does not sit next to Q?

P, Q R, S 3R T 3ecak &1 3R H@ Xeh Wel 3@ # 4 §| P,S & 1e Jor & fe T 6 w7811 Q, R o a1 a1 & S o 3@l & o1& &bt w¥ 81 I T,Q & o1y AT doear g
FABT S & TR IR FleT FaT 8 ?

Options:
1)P

2)Q
3)R

4HT
Correct Answer: P
Candidate Answer: T

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
el fashedl & 4 dg eee iU S T 1T 2sg; & 3R 1 TN ek 76T AT ST Gohell:
EXPERIMENTAL
Options:
1) PARENT
2) RELAX
3) METER
4) METHANE
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Correct Answer: METHANE
Candidate Answer: METHANE

Question 13.If E=5, PEN=35, then PAGE=?

Ifg E=5, PEN=35 &I, df PAGE=?

Options:
1) 27

2) 28
3)29

4) 30
Correct Answer: 29
Candidate Answer: 29

Question 14.If '+' means '+', '+' means '-', '-' means 'X' and 'X' means '+', then

I+ J ML ' JEN, I - F G, - I X AR AR K I+, FEran
48 +16x4-2+8="7

Options:

1)3

2)6

3) 112

4) -28
Correct Answer: 3
Candidate Answer: 3

Question 15.Some equations have been solved on the basis of a certain pattern. Find the correct answer for the unsolved equation on that basis:
TS TN 1 5ol el fafiee deat & Segar fAehrelr a1 &1 3 TR R 38 TN F1 &l forehrel FNeTent &t oTeT forehren 17 & ?

7*4*3 = 437

8*6*4=648

4*3%6=?

Options:

1) 346

2) 364

3) 643

4) 463
Correct Answer: 364
Candidate Answer: 364

Question 16.Select the missing number from the given matrix:

fow 91T 3Tegg & A oo 3ieh A1 ST
5 2 4
4 4 7
2 5 3
18 30 ?
Options:
1) 43
2) 42
3)33
4)32

Correct Answer: 33
Candidate Answer: 33
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9/26/2016 Staff Selection Commision

Question 17.A boy runs 20 m towards East and turns to right, runs 10 m and turns to right, runs 9 m and again turns to left, runs 5 m and turns to left, runs 12 m and
finally turns to left and runs 6m. Now, which direction is the boy facing?

Te st 20 A, I 1 3R Asar ¢ 3R R e o33 v 10 3. Sisar 81 R g gz 9 o alsar & 3R e 9 o33 @ 5 o elsar € ar i e s 129 dlsar g el
3feciel: ST H3hT 6 . SlScT §1 319 36 5 & UgX & A HlT-a fewm g ?
Options:

1) East

&

2) West

qiRaH

3) North

3

4) South

gfaror

Correct Answer: North

3

Candidate Answer: East

RG]

LN

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement:I All astronomers are scientists.

Statement:II Some scientists are shopkeepers.

Conclusion:I All astronomers are shopkeepers.

Conclusion:lISome shopkeepers are astronomers.

Conclusion:lll Some shopkeepers are scientists.

Conclusion:1V All scientists are astronomers.

fafld weaT 7 veh a1 geFdey Y 1 €, o 31t IR Ased/Agar, 1, 11,111 3R IV fAehrer 3 & 3maent R ek § & aodeg acg § 918 98 =g d:
AT T2 A Bt T 81T 8| 3Rt TA0TT e & o RU 910 aorded & & FiT-ar Afvad & & Tt s /Aegar f@eren s aear § ?
ey I : T oo, danfae gl

FFaed 11 : F© 3o ghieer 81

s I @l @eltorIes gFeert £

s II $o ghieer Tamere 8

s 111 %o gehieer dafeieh 8

s IV Tl dofae Tetermadt £

Options:

1) Only IConclusion follows

Fael [ sy el §

2) Conclusions I,llandllifollows

faseny 1,11 3R 111 vl §

3) Only conclusion llIfollows

hael 111 sy Rehordr &

4) Conclusion lland IV follows

oSy 11 3R IV Al &

Correct Answer: Only conclusion Ilifollows

Fael 111 sy PeFerar &

Candidate Answer: Only conclusion Ilifollows
Fad 111 fasey Heherdr &

Question 19.How many points will be there on the face opposite to the face with 2 points?

58 gv6 W 2 fiwg & 38 8 A aTel Io6 W fohelat feoieg gar 2

Options:
1)1

2)5
3)4

4)6
Correct Answer: 6
Candidate Answer: 6
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Question 20.Which figure represents the relationship among -
Computer skilled, Computer Illiterate, Employees

Staff Selection Commision

At & § Fla-0 Y ' FFgR- IR, ‘TG-Sl # el § ?

Options:
1)

NS

N, |
‘-..__i,_/

2)

|
AT

|

3)

Vi
|

W,

g,—
\

N

4

N7
—

)

Correct Answe

]

V‘

\\\_,

Q"’f A
—

Candidate Answer:

V‘ﬁﬂ

‘\\\—/ /

Question 21.Which answer figure will complete the figure in the question figure?

FleT-T SoclX TPt TR T & ITTET ol G HY ?

N\

/|

L/
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Options:
1
[
L 1
| |
e
m |
-
Tt ]
2)
[
L [T P
3)
! . / b
ma L L]
!
=
:
I
| ] I
4)
| 1|
N O Y I A 50
Correct Answer:
| 1|
N Y A 5
Candidate Answer:
[ [l
CTET T I s

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

Staff Selection Commision

& 718 SeaT ITPhrAt H {37 Iea Il 1 gfAw T v ampfar e &1
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Options:
1)
/\
[ N
2)

3)

4)

Correct Answer:

Can-didate AnS\;ver:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

AT eaT T # RWIT AR FeTeT i HSH FIceT TUT Tieket & 16 Te 19 Iccl¥ ATl SIaT fems Sam ?

Fowgl 1
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Options:
1)
B
1-a -
|
2)
—|-£ -
== 00
1 |m
|_
3)
.
m
4)
1 [
Cor;'ect Answer:
1 [
Can-didate Answer:
1 [

Question 24.1If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

afey T Q0T Y MN YT IR T SR Y &) 18 Seert epferait 3 & e 3y vt gt A e e g 2

oM

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 9/29
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Options:
1)
D
N
2)
|
FAY
3)
O
4)
)
L
FAY
Correct Answer:
D
A
Candidate Answer:
|
il @)
FAY

Question 25.In the question, a word is represented by only one set of humbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are humbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'G' can be represented by 04,40, etc. , and 'K’
can be represented by 56, 68,etc. Similarly, you have to identify the set for the word 'LIFE'.

TS G el T HEAT-HHE SaRT GRITT 10T &, S o faredtt 3 & forelr vep o foam aram §1 fasredtt 3 U 91w Hear-aefg 316RT & qaif ganT gRiiv a7 §, shar i & e
31T 2 3TegE! 7 ¥ 3Megg 1 & FoooT 3R ufe & Tear 0 @ 4 3N H1egp 11 61 5 & 9 & 915 §1 57 Iehgl U Ueh &R i Tgel 3HHT TieheT 3R A6 71 997 S@RT aeiram S
T | 3ETEX0T & [T, 'G' 3T 04,40 3Te G@RT GRIAT ST HehelT & T 'K’ &1 56,68 37TE S@RT SRIAT ST WebedT &1 ST o & 31T feW 2reg 'LIFE' & fAw 3megg &r
g 8

o [t |2 3 |a s |6 |7z |8 3
e |c |[p |[E |F |& |[5 |6 |® [t [T ~W
1 F G .C D E 4] | N H [ L
2 b |E |F & ¢ ||[7 [« [t [T |n «x
i E F .G C D a L | M H k.
a4 ¢ |c b e |F |[e [~ |H [k L

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 10/29
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Options:
1) 56,58,03,02

2) 57,65,03,02
3) 66,62,03,02

4) 57,68,10,02
Correct Answer: 57,65,03,02
Candidate Answer: 57,65,03,02

Question 26.Which of the following brings out the 'Consumer Price Index Number' for Industrial workers?

SeT-Eat & e | SusieraT Ae ot G PETad & A Hi g s d ?
Options:

1) RBI

s Rera §

2) The Labour Bureau

0

3) Commerce Department
CUEICDATE T

4) NITI Ayog

A 3marer

Correct Answer: The Labour Bureau
KA

Candidate Answer: RBI

R Rerd I

Question 27.The basis of determining dearness allowance to employees in India is

AR # HAANAT 8 AGMS Hedl T LA 1 HTUR gl
Options:

1) National Income

IGT 37

2) Consumer Price Index

ST Hod Fehih

3) Standard of Living

IgeT-Hgel T &Y

4) Inflation Rate

TR

Correct Answer: Consumer Price Index
ST o AR

Candidate Answer: Consumer Price Index
SYIHFAT FHod Feehich

Question 28.An indifference curve measures the same level of

SERAAT a5 F THAH TR B AGAT
Options:

1) Output from two factors

&Y R & 3G

2) Satisfaction from two commaodities

2 a3t & g FgRe

3) Satisfaction from Income and Capital

3T g Yoir & 1o s

4) Satisfaction from expenditure and savings

& AT T § YT glet alell HJiee

Correct Answer: Satisfaction from two commodities
o a3t @ wrea wqfve

Candidate Answer: [ NOT ANSWERED ]

Question 29.The largest committee of Parliament of India is

HRAT TG T AT T FAT DT A & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 11/29
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Options:

1) Public Accounts Committee

iR erar afafa

2) Estimates Committee

UTeRhelel ATAT

3) Committee on Public Undertakings
TGS T1eh 39shA AfAfT

4) Joint Parliamentary Committee
Correct Answer: Estimates Committee

UTeRhelel TTATT
Candidate Answer: [ NOT ANSWERED ]

Question 30.Which of the following State has bicameral legislature?

Afaf@d 7 & fra Tow & Ruedsa glawea £ ?
Options:

1) Tamil Nadu

GIGCKIC

2) Punjab

CEIC)

3) Sikkim

rafFRe

4) Jammu and Kashmir

STH d HYHER

Correct Answer: Jammu and Kashmir
ST T HER

Candidate Answer: Jammu and Kashmir
STFH G R

Question 31.Cod liver oil from fish is rich in which vitamin?

HSA F UICd g1t aTell #is fora et oy faerfhar & aog g g ?
Options:

1) Vitamin A

fFaf@eT A

2) Vitamin D

@ D

3) Vitamin C

faaf@e C

4) Vitamin B

Fafa= B

Correct Answer: Vitamin D
faafd= D

Candidate Answer: Vitamin A
afdsT A

Question 32.Isolines joining places of equal rainfall are called

TH aNT aTel TATAT &1 TRl aTel A3l & FGAE |
Options:

1) isohyets

ISHETFE

2) isotherms

3TEERE
3) isobars
KUESICIES
4) contours
HTIN

Correct Answer: isohyets
ISERTFE

Candidate Answer: contours
HFON

N

Question 33.The Swadeshi Boycott Movement is related to

TACRN 31icieleT T T fhad & ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 12/29
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Options:
1) Partition of Bengal in 1947
1947 & soTer & faemster
2) Partition of Bengal in 1905
1905 # soTrer & faaTster
3) Non cooperation movement in 1921
1921 % I gl
4) Partition of Punjab in 1947
1947 # 9T & faemster
Correct Answer: Partition of Bengal in 1905
1905 F STl & fadseT

Candidate Answer: Non cooperation movement in 1921

1921 & 3TEANT 3TerelT

Question 34.Which river does not form a delta?

Teefalea & & sist T 71y 1 Ferelm (Soer) w1eT & ?
Options:

1) Ganga

Eic

2) Brahmputra

sEAdT

3) Godavari

aigrady

4) Tapi

GIE

Correct Answer: Tapi

ardr

Candidate Answer: Tapi
ardy

Question 35.Babita Kumari represented India in the Rio Olympics 2016 in which sport?

2016 % Y it # Feiar FAN o 1 wfafafocs re da A @re ?
Options:

1) Boxing

HFhaTSH

2) Wrestling

Fer

3) Hockey

gl

4) Badminton

Isffiea

Correct Answer: Wrestling
el

Candidate Answer: Wrestling
et

Question 36.Which one of the following is commonly used for pulp bleaching in the paper industry?

TS SETNT H I T TIEIA et oh ToIT Te=fol@d # & Fmgd: fhgehr T2 f&ham ST & 2
Options:

1) Mild sulphuric acid

Fooh TFYReh UTAS T

2) Glucose isomerase

To[hIST JTSEHAFHE T

3) Hydrogen peroxide

ETSBISTe URIFATSS T

4) Iodine and water
3BT F UTeil Sl

Correct Answer: Hydrogen peroxide
BISSIeled WIFHISS FT
Candidate Answer: [ NOT ANSWERED ]

Question 37.The official language of the Delhi Sultanate was?

feeell Todeld T TsTehI TS T 77 o ?

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 13/29
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Options:

1) Urdu

i-(;;\Arabic

3RET

3) Persian

HREA

4) Hindi

fewdr

Correct Answer: Persian

HRAT
Candidate Answer: Urdu

3

Question 38.Yeast is a

A Th gl
Options:

1) Bacteria

ey

2) Fungi

Fdh

3) Algae

arer

4) Bryophyte

CIDIERE

Correct Answer: Fungi
&hdsh

Candidate Answer: Bryophyte

STARISCT

Question 39.Mutiny of 1857 was described as the First Indian War of Independence by

1857 & fagle T AR & TUH TadeTdT GIATH T HT Tohdsl Teet T ?
Options:

1) Bal Gangadhar Tilak

el I9MER TR

2) Subhash Chandra Bose

I Terg; S

3) Bhagat Singh

s g

4) V. D. Savarkar

aT. 3. aaE

Correct Answer: V. D. Savarkar
dT. 3. AaE

Candidate Answer: V. D. Savarkar
aT. 3. A

Question 40.Bandhavgarh National Park is located in which State?

TG TS 36T ol TsT H E ?
Options:

1) Maharashtra

HERTSE

2) Madhya Pradesh

AL YeRT

3) Gujarat

I

4) Jharkhand

SIRYUsS

Correct Answer: Madhya Pradesh
ALY YR

Candidate Answer: Maharashtra
HERTSC

Question 41.C. P. U. consists of

& dn g, F Al

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87
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Options:

1) Arithmetic and Logical unit and Register

e T difva gfie 7 W

2) Arithmetic and Logical unit, Register and Control unit

Hfee T diforre e, TR daT Fda IfAe

3) System unit and Memory

Torees gfere aar AR

4) Hard disk and Control unit

7T 3% 2 kel IfAe

Correct Answer: Arithmetic and Logical unit, Register and Control unit
Femfeer g diforrel Ifeie , Toreex Ta1 Fgie fAe

Candidate Answer: Arithmetic and Logical unit, Register and Control unit

AR T G T, TOEC e del Ifere

Question 42.Which of the following is not connective tissue?

rfaf@a & O Fia a1 TASTH Foas A8 g ?
Options:

1) Bone

ifey

2) Cartilage

saTfey

3) Blood

ek

4) Skeletal muscle

Fhenter 9T

Correct Answer: Skeletal muscle

Fhenter it

Candidate Answer: [ NOT ANSWERED ]

Question 43.Every hot object emits

ol T TR & T 3chol T &
Options:

1) X - rays

T 3T

2) Visible light

oY ThRI

3) Infrared rays

Jaad foor

4) Ultraviolet rays

RIS 97T foRot

Correct Answer: Infrared rays

Jaad foor

Candidate Answer: [ NOT ANSWERED ]

Question 44.0zone protects biosphere from

3Tl ShaHAsSH AT LERIGIE!
Options:

1) X - rays

& T

2) Gamma rays

AT It

3) Ultraviolet rays

RIS 97T foReot

4) Infrared rays

Jaad foor

Correct Answer: Ultraviolet rays
RIS T foRoT

Candidate Answer: Ultraviolet rays

ERCCoIREau

Question 45.The molecular mass of a gas is

e 3 1 3T0ae geaART Bar gl

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 15/29
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1) twice its vapour pressure
38 aTsIee U gILAT
2) equal to its vapour pressure
3T ITSUCHE & SRTE
3) half its vapour pressure
3T TSUCHS I 3TET
4) not related to its vapour pressure
35% aTSUE  3FIE
Correct Answer: twice its vapour pressure
38 aTsIed U g
Candidate Answer: equal to its vapour pressure
3G ISIGHS & ST

Question 46.'Stand up India' scheme launched by the Prime Minister recently is related with

Tl &1 3 e FY gaRT IR ' T3 379 3T The o ey R § ?
Options:

1) Promotion of entrepreneurship among SC, ST and Women

TR S, 3T Sttt & [t & seaffdn & deae 4

2) Promotion of rights of Divyangs

et & 31RFRT & TiedesT &

3) Promotion of compulsory education for women

eyt & fore sfAarr RieT & dcaea o

4) Promotion of Indian exports in western countries

TR &2t T R AT & WicaeT I

Correct Answer: Promotion of entrepreneurship among SC, ST and Women
TG S, 3 Sttt & [t & seaffdn & Weae 4
Candidate Answer: Promotion of entrepreneurship among SC, ST and Women

g e, g st g [t & seaffdr & dicara 4

Question 47.Which one of the following institutions is also called "World Bank" ?

AERRT A A FT N dr ' g ' F T T A TR A g ?

Options:

1) International Bank of Reconstruction and Development

ST I BR RNeregaris U8 Baeudive

2) International Monetary Fund

SRS A T

3) UNICEF

R

4) IFC

38 TH T

Correct Answer: International Bank of Reconstruction and Development
A Sk BR Nepegarer U3 fadermdive

Candidate Answer: International Bank of Reconstruction and Development

ST S BR Reptgaris Us Baedive

Question 48.Which is called the "Lake District of India"?

Refofld 7 A Fle sa &' a4 BE e ' & 9 7 ST e § ?
Options:

1) Nainital

poicich

2) Shimla

e

3) Sikkim

REET:]

4) Matheran

AR

Correct Answer: Nainital
oicic

Candidate Answer: Nainital
Coicich

Question 49.Which of the following sets of taxes belongs to Central Government?

fAefof@d & & o &1 i a1 e Fegry TWHR § THE § 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 16/29
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1) Excise duty, Sales tax and Custom duty
AT &, TRt ¢ G e
2) Income tax, Custom duty and House tax
AR, WHAR[eh o IERT
3) Excise duty, Custom duty and Income tax
3ITSRRY Y, WHARe T TR
4) Custom duty, Entertainment tax and Income tax
BIAR[h, HARSI T d IR
Correct Answer: Excise duty, Custom duty and Income tax
ATSRRY X, WA T TR
Candidate Answer: Excise duty, Sales tax and Custom duty
3MSRRY Y, TshT T T AT Yok

Question 50.Brown stains in vessels and clothes indicate the presence of high quantities of in water

It TUT HYST IR T e AT 7 Fr 31 e AT F Thas &

Options:

1) Magnesium

HeshfTa

2) Calcium

HiceaT

3) Manganese

Harefrar

4) Chromium

BRI

Correct Answer: Manganese
Harefrar

Candidate Answer: Magnesium

AR

Question 51.The radius of a sphere and right circular cylinder is 'r'. Their volumes are equal. The ratio of the height and radius of the cylinder is:

T 3otk 3R T Wi Feoltr St @Y S 'r' §1 37 I SR £ | ot 1 Sers 3R e # reara A S ?
Options:

1)3:1

2)2:1

3)3:2

4) 4:3
Correct Answer: 4:3
Candidate Answer: 4:3

Question 52.When a discount of Rs. 42 is allowed on the marked price of an article, the new reduced price becomes 86% of the original price. Find the marked price.

afe; R g & 3Rl 7ed T Rs. 42 7 e & STl & ol 7S T g% et T BT 1 86% B S ¥ JHfehel et w1t A ?

Options:
1) Rs.250

2) Rs.300
3) Rs.350

4) Rs.400
Correct Answer: Rs.300
Candidate Answer: Rs.300

Question 53.A merchant buys 25 litres of milk daily at the rate of [1 12 per litre. He mixes 5 litres of water in it and sells at the rate (] 10.40 per litre. His gain/loss is:

TS GFRIER Ul faeT 25 Aex g8 O 12 Wiy ofiet T &X & TdiedT & | 36 a6 5 eieX ITeit ARt 0 10,40 9 #iiet i &X & 974 3T §| TERIaR 36 alred/gifet & sfcrard
fRaaT g ?
Options:

1) 8% profit
8% 8T

2) 2% profit
2% st

3) 4% profit
4% e

4) 6% profit
6% 8T
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Correct Answer: 4% profit
4% I

Candidate Answer: 4% profit
4% s

Question 54.A man spends 15% of his income. If his expenditure is Rs. 75, his income (in rupees) is:

Teh TTFd 379=AT 31T T 15% T W ST | Tl ITHT @A Rs. 75 g, df 3T 371 (39T ) 1T fifsiw ?
Options:

1) 400

2) 300

3) 750

4) 500
Correct Answer: 500
Candidate Answer: 500

Question 55. To cover a certain distance with a speed of 60 km/hr, a train takes 15 hours. If it covers the same distance in 12 hours, what will be its speed?

T eSSt 60 fo. 0. /der Y TFIR & I W &, TF TARad gt 1 a3 ¥t 31 15 62 &7 @ o §1 918 a8 9 Y 12 6 & a3 &Y o 36 are a1 gl ?
Options:

1) 65 km/h

65 .77, /eer

2) 70 km/h

70 .. /ger

3) 75 km/h

75 fr.a. /g

4) 80 km/h

80 for.at. /e

Correct Answer: 75 km/h
75 .. /ger

Candidate Answer: 75 km/h
75 fF../ger

Question 56.5um of three consecutive integers is 51 . The middle one is:

Vet STt quTient T AT 51 8| SfYr arel HEAT AT § 2

Options:
1) 14

2)15
3) 16

4) 17
Correct Answer: 17
Candidate Answer: 17

Question 57.

fx+==5 , then the value of 257)‘ is
X x“+5x+1

aﬁxati = 5,81 == & HT &ATG?

x+5x+1

Options:
1) %

2) Va
3) %

4) %
Correct Answer: 2
Candidate Answer: />

Question 58.The point of intersection of all the three medians of a triangle is called its

Tl FehI0T Bt it ATEehI3T T hieat aTel [Seg T T gl & ?
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Options:

1) orthocentre

CEC Ty

2) incentre

3id: Feg

3) centroid

Fogan

4) circumcentre

IR

Correct Answer: centroid
Fogan

Candidate Answer: centroid

Feadh

Question 59.The area of a triangle with vertices A (0, 8) , O (0,0) and B (5, 0) is:

g Brpior, foras 3% A (0,8), O (0,0), 3R B (5,0) 8, A 8Tthet = glem ?
Options:

1) 8 sq. units

8 T gfere

2) 13 sq. units

13 39 gfaie

3) 20 sq. units

20 33 gfere

4) 40 sq. units

40 T I

Correct Answer: 20 sq. units
20 79 gfae

Candidate Answer: 20 sq. units
20 33 gfore

Question 60.The least number that must be subtracted from 1294 so that the remainder when divided by 9, 11, 13 will leave in each case the same remainder 6 is:

Ig FTAH HEAT AT AT fd 1294 37 & T o 3N fhe A o<t Fear 31 9,11,13 il § 6T ¢ I Tedeh 9K 6 AT T ?
Options:

1)2

2)3

3)1

4) 4
Correct Answer: 1
Candidate Answer: 1

Question 61.A and B can do a piece of work in 72 days. B and C can do it in 120 days and A and C can do it in 90 days. A alone can do it in:

A 3R B e & &l 72 T 7 9 Tt §1 B R C 38 1 1 120 &7 7 X Favct & | TUT A 31X C fAee 38 90 T & R Tl £ 1 IATST A 37holl 3 1A &l fohelel
T 3 Yam ?

Options:

1) 120 days

120 &t

2) 130 days

130 =T

3) 150 days

150 f&eT

4) 100 days

100 &

Correct Answer: 120 days

120 =

Candidate Answer: 120 days
120 &

Question 62.Rs. 730 were divided among A, B, C in such a way that if A gets Rs. 3 then B gets Rs. 4 and if B gets Rs. 3.50 then C gets Rs. 3. The share of B exceeds
that of C by

Rs. 730 ¥ TR A,B,C & i 55 IR Ao i a1$ & 76 Ife A FF Rs. 3 Ty aY B &I Rs. 4 f&er 31X e B FI Rs. 3.50 f&er @ C Y Rs. 3 f&el| B &7 @&, C ¥ fhdar
JftwE?
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Options:
1) Rs.30

2) Rs.40
3) Rs.70

4) Rs.210
Correct Answer: Rs.40
Candidate Answer: Rs.40

Question 63.The average marks obtained in a class of 50 students is 70%. The average of first 25 is 60% and that of 24 is 80%. What is the marks obtained by the
last student?

50 BTt T heTT 7 AT 70% 3 UTed T 10| T2eT 25 SrEt o 3T 60 % 3ie ued [T 3R 24 ot o 3iade 80% 3is ured | 3ifas o o fhder 37 wed
T ?

Options:

1) 90%

2) 60%

3) 80%

4) 70%

Correct Answer: 80%

Candidate Answer: 80%

Question 64.

a®+1

; —
If = {a? + 1) = 3, then the value of = is

Iy (1/a)@2 +1)=3g,ar
a®+1
a® & A a AT ?

Options:
1)9

2)18
3)27

4)1
Correct Answer: 18
Candidate Answer: 18

Question 65.
Ifa=vZ+1,b=+2 —1,

1 :
then the value of m+ P=—rey is

A a= VZ+ L,b= V- 1B @ —— + —— & AR Id0?

a+1 b+1

Options:
1)0

2)1
3)2

4)3
Correct Answer: 1
Candidate Answer: 1

Question 66.1In a triangle, the distance of the centroid from the three vertices is 4cm, 6cm and 8cm respectively. Then the length of the smallest median is:

Tl Freptor 3 et St & e 1 g Fomn: 4 A, 6 WA 3R 8 A &1 wew ol ftae & wers A Hifore ?

Options:
1)8

2)7
3)6

4)5
Correct Answer: 6
Candidate Answer: 6
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Question 67.0 is the centre of the circle and £AOB = 150°, and the shaded portion is x part of the circular region, then x = ?

I gedt 1 e O 81 I LAOB = 1500, 3R SRITER HET Gecliar &7 &7 x $1T g, &Y x T HeT AT gIaTT ?

Options:
1)
1

12

2)

o e

3) %

4) Vs
Correct Answer: %
Candidate Answer: %

Question 68.
0 is a positive acute angle and sin - cosB = 0, then the value of secB + cosecB is

B e YeTTcateh 7 10T § 31 sind - cos® = 0 @Y, dY secd + cosecd & AT #Id AT ?

Options:
1)2

2)
V2

3)
202

4)
w2

Correct Answer:
2

Candidate Answer:
2

Question 69.

2 tan 53° Cot 807,
The value of — is
Cot 37° tanio”

tan33* cot80® =
i -] HleA ddle?
cot37° tanliQ®

Options:
1)3

2)2
3)1

4)0
Correct Answer: 1
Candidate Answer: 1

Question 70.The compound interest on Rs. 24000 at 10% per annum for 1% years, interest being compounded semi-annually is

33 (1v2) a¥ & AT 10% af¥es &1 & & Rs. 24000 H T 9T Tehgfy saret (3refamien siearel W NI TART 2
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Options:
1) Rs.3783

2) Rs.3777
3) Rs.3780

4) Rs.3781
Correct Answer: Rs.3783
Candidate Answer: Rs.3783

Question 71.A boat is moving away from an observation tower. It makes an angle of depression of 60° with an observer's eye when at a distance of 50m from the
tower. After 8 sec., the angle of depression becomes 30°. By assuming that it is running in still water, the approximate speed of the boat is

T 19 R 98707 eTaR /T S W1 &1 19 98 <lay & 50 FieX 7 gfi oY & aF a8 Vet &1 G 7 60° T HaeTafe] HIvT ATl & | 8 HHUS & T1G IHGeTset 10T 30° & &1 ST

g mmmﬁg%mm?mﬁmzﬁ%l AT T SRTHIT °TeT (TN ) TATST ?
Options:

1) 33km/hr

33 .o, /eer

2) 42km/hr

42 .30 /eer

3) 45km/hr

45 fo.3, /eier

4) 50km/hr

50 f&.3%./erer

Correct Answer: 45km/hr
45 5.3, /ger

Candidate Answer: 45km/hr
45 .7, /ger

Question 72.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.

FET T 91T SR I Teh el 1 3T T 62Tl & SR-M% a1 3eqTeT forv 3 T2&1 & 3ca Afoiv|

14

12
INCOME
“N 10

LAKHS
RUPEES)
8

0 JAM FEB MAR APR MAY
Months

Which period shows a steady increase of income ?

o1 3ol 31 31T A foRe ek Feicadi gg & 2
Options:

1) March to May

AT & 7S d

2) February to April

REd F 3 aw

3) February to May

Wa A A7 I

4) Insufficient data to predict
3ifeRg 3roafea ¥

Correct Answer: March to May

AT A 7S dh

Candidate Answer: February to May
I A A IF
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Question 73.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.
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TET AT 31T SR UTE U el 7 3T 1 AT ¥ TR-3110 &7 378047 Hforw 3T et & 3eaw §fsrw)

14

1z
INCOME
[IN 10

LAKHS
RUPEES)
B8

g JAN FEB MAR APR MAY

Months

During which month, the ratio of the income to that of the previous month is the largest?

T HIE & 31T 1 Id H1g N 31T W A HDhia § ?

Options:
1) February
wadr

2) March

&

3) April
4) May

Correct Answer: March

el

Candidate Answer: March

&4
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Question 74.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.

TET T 31T S UTE U el 7 3T 1 AT ¥ TR-311 &7 37874 Hforw 3T et & 3eaw QfSrw)

14

1z
INCOME
[IN 10

LAKHS
RUPEES)
B8

0 JAM FEB MAR APR MAY
Months

The income in May is how many times to that of February?

HS &1 3T B A A Y RwcelT a1 § ?

Options:
1) 3.25

2)4
3)3.5

4)5
Correct Answer: 3.25
Candidate Answer: 3.25

Question 75.The bar graph given indicates the income of a firm. Study the graph and answer the questions given.

TET T 91T SR I Teh Fdei) 1 31T o7 a2l &1 SR-3M o1 3TEATT foiT 3 92&1 & 3ca Afoiv|

14

12
INCOME
“N 10

LAKHS
RUPEES)
8

0 JAM FEB MAR APR MAY
Months

The average monthly income of the firm (in lakh rupees) is

FFIAT T 3T AfAF 37T (g 9T 7) FATR?

Options:

1)7.6

2)6

3)8.8

4) None of these
T A P G

Correct Answer: 8.8
Candidate Answer: 8.8
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Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

HOODWINK

Options:

1) DECEIVE

2) NEGATE

3) UPSET

4) COVER

Correct Answer: DECEIVE

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

FUTILE

Options:

1) DISTINCT

2) OPEN

3) PLEASED

4) FRUITFUL

Correct Answer: FRUITFUL

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Aggression

2) Agression

3) Aggretion

4) Aggresion

Correct Answer: Aggression

Candidate Answer: Aggression

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

She does not listen to me (A) / because she is (B) / senior than me (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: D

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The man is (A) / the most tallest (B) / of the group (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The boy (A) / which money (B) / was lost felt sorry (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

This is the wrong to this question .
Options:

1) saying

2) style

3) reaction

4) answer
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Correct Answer: answer
Candidate Answer: answer

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The resort is the lake.
Options:

1) from

2) has

3) besides

4) beside

Correct Answer: beside
Candidate Answer: besides

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The life of a mosquito is
Options:

1) long

2) passive

3) brief

4) important

Correct Answer: brief
Candidate Answer: passive

, but very active.

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Capital Punishment

Options:

1) Death sentence

2) Life imprisonment

3) To be jailed

4) Imprisoned for a long period
Correct Answer: Death sentence

Candidate Answer: Life imprisonment

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Leaps and bounds
Options:

1) Slowly

2) Rapidly

3) Jumping

4) Stationary

Correct Answer: Rapidly

Candidate Answer: Rapidly

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Smell a rat

Options:

1) Suspect something wrong
2) Smell a burned rat

3) Smell a rotten rat

4) Smell something right

Correct Answer: Suspect something wrong
Candidate Answer: Suspect something wrong

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Government by a king

Options:

1) Autocracy

2) Aristocracy

3) Oligarchy

4) Monarchy

Correct Answer: Monarchy
Candidate Answer: Monarchy

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Hobson's choice

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=12a4fff78943b24af40c79deccf09bb87 26/29



9/26/2016 Staff Selection Commision

Options:

1) Choice to live or die

2) Excellent choice

3) No choice at all

4) Bigman's choice

Correct Answer: No choice at all
Candidate Answer: No choice at all

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Violation of the sanctity of a sacred place
Options:

1) Sin

2) Sacrilege

3) Sedition

4) Blasphemy

Correct Answer: Sacrilege

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

A chance remark by her friend transported her life.
Options:

1) transgressed

2) transposed

3) transformed

4) No improvement

Correct Answer: transformed
Candidate Answer: transformed

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Please switch of the fan.
Options:

1) switch off

2) switch in

3) switch out

4) No improvement

Correct Answer: switch off
Candidate Answer: switch off

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The employees are hell bent at getting what is due to them.
Options:

1) hell bent on getting

2) hell bent for getting

3) hell bent about getting

4) No improvement

Correct Answer: hell bent on getting
Candidate Answer: hell bent about getting

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The new book written by Vikram Seth has become very populous.
Options:

1) populist

2) popular

3) populace

4) No improvement

Correct Answer: popular
Candidate Answer: popular

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Where have you first met your husband?
Options:

1) had you first met

2) did you first met

3) did you first meet

4) No improvement

Correct Answer: did you first meet
Candidate Answer: did you first meet
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

Egyptians appreciated the cat's ability to destroy .
Options:

1) snakes

2) weasels

3) houses

4) rodents

Correct Answer: rodents
Candidate Answer: rodents

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

Hordes of rats invaded Egypt. They came from .
Options:

1) Europe

2) Asia

3) Asia Minor

4) Africa

Correct Answer: Asia

Candidate Answer: Asia

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

The cat was considered to be a
Options:

1) sacred animal

2) goddess

3) symbol of peace

4) symbol of fertility

Correct Answer: sacred animal
Candidate Answer: sacred animal

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

What is the opposite of the word ‘votaries’ ?
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Options:

1) Enthusiast
2) Critic

3) Adherent
4) Fanatic

Correct Answer: Critic
Candidate Answer: Critic

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Man's attitude to various animals changed many times in the course of centuries. From indifference or practicality, he went on to adoration and deification, and then
to hatred. Ancient Egyptians, for example, highly appreciated the cat's ability to destroy rodents. The cat was much superior in this respect to the grass-snakes and
weasels they had kept in their houses before. These proved unable to cope with hordes of rats which invaded Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important animals, too. The goddess of the Moon, fertility and child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess, where cats were kept in luxury and fed the choicest of foods. They had their own priests and votaries, more numerous
as a matter of fact than any other sacred animal could boast. According to the Greek historian Herodotus, the festival in the city of Bubastis, which had a temple
dedicated to cats, was attended by as many as 700 thousand, who brought their offerings to the goddess in the shape of figurines of her made of gold, silver and
bronze and adorned with precious stones.

The word 'deification’ in the passage means
Options:

1) highly valuable

2) take pride

3) act of treating as God

4) devotees

Correct Answer: act of treating as God

Candidate Answer: act of treating as God
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